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HY: Yol 1461 GIFYIHATT Y3d HJET o |

i) ST J9797 99 J¥4T: Tl |

(ii)  JoA9HIHG  [AYIaEgeeeell GUSHIIcHS  ddd — HYRBAEAIGT, IHHIHBHBIE,
GiSarasgTyq o |

(i) JIFGUS (FTIGAEITY) T [qvIaEqeees] daR: YA Giwd | dy
Tl T JIT17 Teacal M5 IR |

(iv) IgAa@ve (TEHIcHSHHEY) Ta9ds F9: Jv1: Jadl: i~ | 1d9gaigese=iT
TYee JYTIHIGC Td J971: THIET: |

(v)  FAIEUE (FISAITTYIT) TISGETHY IT FoH: G2l Flied | STIHT Y7l

TGEYY [qYITEGeee=d] To5 J941: di~d | & JoT: 272/77%?';973?7778?277 /

Instructions :

(1) This question paper contains 9 questions.

(11)  This question paper contains three sections — Unseen passage, Writing
skills and Textbook based questions.

(111) Section A — Unseen passage contains four parts. Attempt all parts of
questions based on specific instructions given in the question itself.

(tv) Section B - (Writing Skills) consists of three (3) questions. Attempt all
3 questions based on specific instructions given in the question itself.

(v)  Section C — (Textbook based questions) contains 5 questions. Attempt all
questions as per the instructions given in the question itself.

SECTION A
AUTSATAATLAY
AUTSA — AT

Unseen Reading Comprehension

1.  JYIARgd TS gidedl JeaH, I J&hdd 3T -
fefetRaa TensT Sl Ueeht 39 W 3METHd Y9I oh I T&hd H SN -

Read the following passage and answer the given questions in Sanskrit : 10

A A skl 9 SIHId HEMhid hIicIgEdq | hIfcigE: FEhded
3chEaN: ohid: IAfEd | TART I: 9 shad WRA AUg Trqul fovd yganfed |
fohaigrdl HAfEd Id TFH HI(oIGE: HEHE: 3THId | Hallags fdaeamal dg
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MY 9UoTd:  gfugd: WWW Qﬂ'ﬂTFl‘a’El?rﬁ\?r: | 9T
forarTT ShifcTee e qEdrn: fawd Siear @ e, Hehiiédad! | 39 9
. gd: wricigE: TAITEY g¢ Heaay Fehld, | FRUead- el SiEacdT:
F = ¥ fagH aMEd | 9d: TEETT dHIRH, — g U gR ofg |
foreraaT 0 31g=sq — Ifed hivaq arfasy: | Tae aree A 9giq wied
hTTeTGE: MU HTATH HTHAI — HHNHFHIH, HogaH, THASedld | hIfieae
Hdd: A TG Fied | AR~ AT TGl AEhehid: e |
g1 TY: ShidpATe: HIgH: |

H3AT:

(37) THYeH ITA | (hadd YegIH)
Tsh 1&g H IR I | (Shad &l I3)

Answer in one word. (Only two questions) ax]=2
(i)  h: HERdET HEThRId: Ed ?
(i)  3ATEY HIIEE: hIgel: ATHIq ?
(iii) - ShIICIGIE: Shid SHTSATIH A ?
(A1) quIATRH ITd | (shad J9HgIH)
qul S H 3R ST | (Shad g1 Ied)

Answer 1n a complete sentence. (Only two questions) 2%x2=4

(i)  hIIGHE: Y TdgH AYad ?

(ii)  IIEE: Y: TEgRH AN Tohy IHha™ ?

(iii) STAGTEET YIHGT ATeehehid: ohl fed ?
(3) o I=wcH THdd ¥ for@d |

39 IHI=HG o ToC Ff=d ek Toilgy |

Write a suitable title for this passage. Ix1=1
(3) IATHGIM I | (hadl I3

fréerER I T | (e 99 T )

Answer as directed. (Only three questions) ax1=3
() ‘marfagsan sfa fomivoraeEy famrerdg fom 2

(i) ‘“FER 3 9T YA TR ot foed |

(ifi) ‘FEHET 3id ee faetue e ot fored |

(iv) “3RUd 3fd fshamage shqug fohq 2
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SECTION B

AT SRR TAY
TATCHR R

Creative Work

2. (%) ‘wd wq fman’ sfa dewigec wadl fommera shieuiadiaH™
TS Tohard | STTEehTieehT: ST 31TH IaAIRTaTy Iesieiu] ShRI=] Sid

fafr~ca TRt AT g&had for@d | I1x5=5
3TAET
(@) vadr foEmer Aehdfaaiiar Wiosaid | AT I STIeehiieeh:
BET: HI TaY: 3 e TohH AThYeh To=T9H =d | 1x5=5

3.  ISAALAMI HEHAAT NARad Taway 3Tierehcd T¥ehd- 3T <g foTdd -

ffeIigd a2l <l FarraT & f3U 7 fawy @ w5 # =sg fufen -

Write a paragraph on the given topic in Sanskrit with the help of the
following facts : Ix5=5

() Tow@: - wawun
TQEUEY TR

JENUEY hIUTTH
WW:

RELSF LY
AT
(@) Taw=: - sremEEy
HTEACGET 37
STMHAE 3TT9Iehdl
ATHT:
W:
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O P S N bl : :
fefeTiad oot 7 | fehgl 9Tl el o1 T&hd H FLATG hITIT :
Translate any five sentences 1n Sanskrit of the following : I¥%b=5
()  HAS i % |1 SFT H AT | |
Manoj walks in the garden with his friends.
(ii) o T« 913 ITE Hd 7 |
They are learning lesson.
(i) T € TEG B |
I ike Laddoos.
(iv) Higd el i o7 a1 7 |
Mohan gives grain to the beggar.
(v) 394 $H H 1% 9 T |
He wrote a letter by pen.
(vi) T Z‘ﬁ:ﬁ 3R ﬁ“&' 2 |
There are trees on the both sides of the village.
(vil) YRd Tavd H Teh HEH <3 & |
India 1s a greatest country in the world.
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SECTION C
gigaraaiey
qfed — ST

Reading Comprehension

fTTRad RIS =l Ygeht 38 W ST Y91 o I &hd H SIT -
Read the following passage and answer the given questions in Sanskrit : 3
s fgarEteq FREfe: | uggen § dwH SIshieTH | shdd
ferereTatar g HERvas ST d A9=8 1éd = WIETd Faf | dH TRIIER-
AIRATATF TSHMEY 3 fOdid Bgaq | Heaw  SATHIAS  ISHAET:
ANITShT=d-8¢aT:  TodM: fohal Ufdeqo] Tq&Eme=™  d@aicqT Jad=d - |
qUOIgTE i, J oIS E |
U2AT:
(37) UHUC STA | (hat TegEH)
T Weg H I 19T | (Shad al &)

Answer 1n one word. (Only two questions) 2x— =1
(i) TSN okl HRaly: 3Tied ?
(ii) WSO TRy 3TTshigH Helld ?
(iii) TIST: B ITT GIETT pa(d ?
(3T1)  YUETeRH 3T | (hadl TgIH)
qul TR § I SIS | (hadl &I 99H)

Answer 1n a complete sentence. (Only two questions) 2%1=2
(1) foaearadiaIg™ JqsaT: foh $af= ?

Gi) TepmTeiR SemmY g fadria 2

(iii) RIGSIT: HFAT: JA&TUT TATLETYAR FalcHAT Jad~ ?
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6.  IHAIRGd T qfScdl qEIETAM T F¥eha I -
ffeTRad g=1 shl Ugeht 38 9T ST JeHI o I T&hd H ST -

Read the following poetry and answer the given questions in Sanskrit : 3
3UTSIaET o™= &I T 18 180y |
AT IGLEEIT T{iaTg Sameydry ||

AT

(37) THUSH WA | (hadd IegIH)
Teh Wog H I AT | (chared g1 )
Answer 1n one word. (Only two questions) 2x—=1
(1) YT AT TG {0 9ald ?
(ii) dTehicd <hYT ITH;: Hald ?
(iii) HUH I qHTE: Wefd ?

(311)  qUIaTRId STd- | (had TeHgIH)
qui et | IR <IT | (Shaet g )
Answer 1n a complete sentence. (Only two questions) aRkl=2
(i) SRICeN Tad T oI Ue & 2
(ii)  STFHETTEIO Y JaAld ?
(iii) SUTSIAlaATET e T Jald ?

7.  AUIfARgd 1l gfdedn qgremidr 9= HEehdd 34 :
FETcTRad ATeITST ohl dgeht 3§ U MMUTHA Y9! o I H&hd H GITIT

Read the following drama passage and answer the given questions in
Sanskrit : 3

g7y:  — ACHNY: GHEREAY Uieaq Iq fawasiy Jiced: dicame = |

W’—WWIW@%‘?@W: W:@W@'ﬂ'ﬂﬁ"ﬁﬂ%ﬁﬁ
SCERIRCN

Tife] — A= | TG 99 AT iRl JTqH se9M: |
(TTT=TE: aTSHTETH TrTrTedT fRrerta)
T — T9a=sTEl: €4 qUd | ANt HUd: |
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q94T:

(7) THUSH 3T | (hadl TG )
Tsh 6¢ H I T | (Shael 1 99)

Answer 1n one word. (Only two questions) 2x—=1

1) TN Y JErrsre fSreEfa 2
(ii) fova Gicameq fo A=d 2
(iii) oh: AMTATY BEAF Hlo &=t ?

(A1)  YuiaTeRH 3Td | (had IHgIH)
qul T H 3T SN | (Shadl gl I3

Answer in a complete sentence. (Only two questions) 5] =5

(1) BE: GHERYAY 6 qiedq ?
(il) ARSI Cad: hel A= ?
(iii) JM: oh: ? Tor@d |

AYMTARIATTT NFTEATY [ Too[ITIGHEIAAT Hed -
eTeTRaa wreny ° faae™ qid Tesn | QU 77U ugi <hl @gran 9 shilay -
Fill in the blanks in the following explanations with the help of the words

as given in the box : Ix1=3
() “PH 91 ATERIE, <& 91 IaATq
HTam':
g8 Wd ¥ ehsfu s dm @) geUheUgthl: WAl d
(i) A& YUl shq Fed qeu: WAl | iU S99 Ug
I | d9T g 3Hd dsehed: WdAld — i g HSAMH  37ET
(iii) AT |
HAJT
Page 8
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(@) “9nT: et
ICIOR
LIS AT: 3l Hgwqul: 39T ddd | 3fd: 3TEHH hd
(1) T 499: 9 oA Ui | S 3R S1NTEE
(ii) AT Tehmar aHfiq Te: wat< | T fF (i)
AT =9 add |

9.  IAYfeTgd — 3~ TFae™TH Td : (Shadl U=HsH )
f=fiiga 3taa o Tk €M1 hl qfd hINT : (shael Teh 99)

Fill in the blanks in the following prose-order-renderings of the verse :
(Only one) 3x1=3

() TR Al TH GAIGT AAT<LSHIT ATl o G50 |

SGIgois PHGH Sl I8 73 A T8 78 g ||

Hed

T: Iy (¥atd) 9 & a9 (1) (wafd) | (I°r) TR ATy
T (ii) AR F Mh: ol 9 UM, P &Y
(iii) fgatet forerd |

HAAT

(@) Taed Aikhed 9dYd Godl 7 &haed: |
T9AE AYHAUN Hieaaae sa ||
HdY:

Al o=d: T (i) (v9 q) qraedd, 9ihedd (¥dd) | 38
I (ii) Tfeaay 31dq 3 (iii) |
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